
Distance Learning: ransformations of Functions (Math 3 Section 1-2) 

Remember these two parent functions nd their graphs from Section 1-1: 

Quadratic: f(x) = x Absolute Value: f(x) = lxl 
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Description: Vertex at (0,0), Opens Up Description: Vertex at (0,0), Opens Up 

Shape: Start at vertex, move n units rig t, move n2 up Slope= ±1 

Tra sformations of the Parent Function Graphs 

1. When there is a numb radded or subtracted inside the function, that is a left/right 

translation (slide) in the pposite direction. 

2. When there is a numb radded or subtracted outside the function, that is an up/down 

translation (slide) in the rrect direction. 

3. When there is a numb r multiplied by the function, the sign indicates which way it 

opens (up or down) and t e number indicates a vertical stretch (if the number is greater 

than 1) or a vertical com ression (if the number is less than 1). 
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ations of the two parent functions. 
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5 y= lx+3l+l 
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Vertex Form of the Parent Functions 
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Quadratic Parent Functi on Absolute Value Parent Function 

y = a(x- h)2 + k y = alx-hl + k 
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Examples: Determine the Equation of E ch Function Graphed Below 

Number Graph Equation 
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A parabola with: '/. j = o&-02- +-- IL­

An absolute value function ith: 
Vertex: (-5, 5) and goes thro gh the point (-4 , 3} 
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Vertex: (~,7land goes throu h the point (4, 16) 
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A parabola with: 
Vertex: (-6, -5) and goes thr ugh the point(~, _d) 
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